MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

NG CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
' (305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

G.D.T. Holdings
3591 South Pleasant Green Drive
Magma, Utah 84044

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Hurricane Wind Abatement Window Cover

APPROVAL DOCUMENT: Drawing No. 09-128, titled “ The Guardian Hurricane Cover ”, sheets 1 through
14 of 14, prepared by Tilteco, Inc., dated July 03, 2009, signed and sealed by Walter A. Tillit Jr., P.E. on
December 18, 2009, bearing the Miami-Dade County Product Control Revision stamp with the Notice of
Acceptance number and the expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, Lancaster, PA, and
the following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA #07-1212.02 and consists of this page 1, evidence submitted page E-1 as well as approval

document mentioned above. 4
The submitted documentation was reviewed by Helmy A. Makar, P.E., M..S.

//  NOA No. 10-0202.04
«./% / /W\ Expiration Date: 03/06/2013
Approval Date: 12/02/2010

IZ/OZ/ZOIO Page 1




G.D.T. Holdings

[a—y

N

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 07-1212.02

DRAWINGS

1. Drawing No. 07-094, titled “ Hurricane Window Cover ”, sheets I through 10 of 10,
prepared by Tilteco, Inc., dated July 26, 2007, last revision #1 dated February 04,
2008, signed and sealed by Walter A. Tillit Jr., P.E. on February 05, 2008.

TESTS

1. Test report on Large Missile Impact Test, Cyclic Wind Pressure Test, and Uniform
Static Air Pressure TestRubber Protective System, prepared by Fenestration Testing
Laboratory, Inc., Report No. 5334, dated August 21, 2007, signed and sealed by
Carlos S. Rionda, P.E.

CALCULATIONS

1. Anchor analysis prepared by Tilteco, Inc., dated July 26, 2007, 8 Pages, titled
Hurricane Window Cover, signed and sealed by Walter A. Tillit Jr., P.E. on
December 06, 2007.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1.  None.

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 09-128, titled * The Guardian Hurricane Cover ", sheets I through 14
of 14, prepared by Tilteco, Inc., dated July 03, 2009, signed and sealed by Walter A.
Tillit Jr., P.E. on December 18, 2009.

TESTS

1. Test report on Large Missile Impact Test, Cyclic Wind Pressure Test, and Uniform
Static Air Pressure TestRubber Protective System, prepared by Fenestration Testing
Laboratory, Report # 6006, dated 09/15/09, signed and sealed by Julio Gonzalez, P.E.

CALCULATIONS
1. Anchor analysis prepared by Tilteco, Inc., dated 07/07/09, 13 Pages, titled The
Guardian Hurricane Cover, signed & sealed by Waliter A. Tillit Jr., P.E. on 12/18/09.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Olffice.

MATERIAL CERTIFICATIONS

o g d dll

elmy A. Makar, P.E., M.S.

Senior Product Control Exammer
NOA No. 10-0202.04

Expiration Date: 03/06/2013
Approval Date: 12/02/2010



GENERAL _NOTES:

1. THE GUARDIAN HURRICANE COVER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR COMPLIANCE
IN ACCORDANCE WITH THE 2007 EDITION OF THE FLORIDA BUILDING CODE AS A HURRICANE ABATEMENT.

THIS PRODUCT MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES. (MIAMI~DADE/BROWARD COUNTIES)

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED, WERE NOT OVER STRESSED, A 33% INCREASE
IN ALLOWABLE STRESS FOR WIND LOADS WAS NOQT USED IN THEIR ANALYSIS. FASTENERS SPACING TO WOOD HAS BEEN DETERMINED
IN ACCORDANCE WITH N.D.S, 2005.

THE GUARDIAN HURRICANE COVER ABATEMENT ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE
WITH SECTION 1626 OF THE ABOVE MENTIONED CODE AS PER FENESTRATION TESTING LAB. REPORT # 6006 AS PER TAS—201, TAS—202
AND TAS-203 PROTOCOLS

2. ALL RUBBER SHEET PANELS SHALL BE RECYCLED RUBBER, MANUFACTURED BY G.D.T. HOLDINGS WITH TENSILE STRENGTH:
FU = 750 psi. (PARALLEL TO GRAIN FLOW) &
FU = 575 psi. (PERPENDICULAR TO GRAIN FLOW).

3. ALL STEEL COMPONENTS SHALL BE AS INDICATED ON SHEET 2 OF THIS DRAWING.

4. ALL ALUMINUM EXTRUSIONS TO BE 6063-T6 ALLOY AND TEMPER.

5. BOLTS TO BE ASTM A-307, GALVANIZED OR AIS| 304 OR 316 SERIES STAINLESS STEEL WITH 36 k.s.. MINIMUM YIELD STRENGTH.

8. ALL WOOD SCREWS TO BE CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi
TENSILE STRENGTH.

7. SEE ELEVATIONS ON SHEETS 3 & 9 FOR MAXIMUM WINDOW COVER DIMENSIONS & SEE SHEET 14 FOR MAXIMUM ANCHOR SPACING.

MAXIMUM DESIGN PRESSURE RATING:

+75, —100 p.s.f.

8. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TQ_EXISTING POURED CONCRETE:

A.1)(E)TO _POURED CONCRETE:
= 1/4°¢ TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILDEX, INC. (Min. f'c=3192 p.s.i).

A2)EMT0 P ONCRETE:
~ #14-10 PANELMATE INSERTS, AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS, (Min. f'c=2700 p.s.i).

A.3) MINIMUM EMBEDMENT OF TAPCON ANCHOR INTO POURED CONCRETE SHALL BE 1 3/4".
A.4) MINIMUM EMBEDMENT OF PANELMATE INSERTS INTO POURED CONCRETE SHALL BE 1 5/8"

A.5) MINIMUM EDGE DISTANCE (E.D.) OF TAPCON ANCHOR INTO POURED CONCRETE SHALL BE 2 1/2". EDGE DISTANCE IS
BEYOND ANY FINISH MATERIAL.

A.6) MINIMUM EDGE DISTANCE (E.D.) OF PANELMATE INSERTS INTO POURED CONCRETE SHALL BE 4" EDGE DISTANCE IS
BEYOND ANY FINISH MATERIAL.

A.7) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, PAVERS, STUCCO OR WOOD BOARDS BE FOUND ON THE
EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.
ANCHORAGE SHALL BE AS MENTIONED IN A3) & A4).

(B) IO_EXISTING CONCRETE BLOCK_WALL ASTM C—90:
B.1)(ELTO_CONCRETE BLOCK WALL:

~ 1/4" ¢ TAPCON ANCHORS AS MANUFACTURED BY I. T, W. BUILDEX, INC.

B.2) (ELTO_CONCRETE BLOCK WALL:
=~ #14-10 PANELMATE INSERTS, AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS, (MIN. f'm = 1794 p.s.i)

B.3) MINIMUM EMBEDMENT OF TAPCON ANCHOR INTO CONCRETE BLOCK UNIT SHALL BE 1 1/4".
B.4) MINIMUM EMBEDMENT OF PANELMATE INSERTS, INTO CONCRETE BLOCK UNIT SHALL BE 1 1/4”.

B.5) MINIMUM EDGE DISTANCE (E.D.) OF TAPCON ANCHOR INTO CONCRETE BLOCK SHALL BE 2 1/2". EDGE DISTANCE IS BEYOND ANY FINISH
MATERIAL.

B.6) MINIMUM EDGE DISTANCE (E.D.) OF PANELMATE INSERTS INTO CONCRETE BLOCK SHALL BE 3 1/2". EDGE DISTANCE IS BEYOND ANY FINISH
MATERIAL.

B.7) IN CASE THAT PRECAST STONE, OR PRECAST CONCRETE PANELS, STUCCO OR WOOD BOARDS BE FOUND ON THE EXISTING WALL, ANCHORS
SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS MENTIONED IN B.3) & B.4).

(C) TQ_EXISTING WQOD (MIN. SPECIFIC GRAVITY. G = 0.55 MIN.):

C.1) :
— 1/4"¢ LAG SCREWS PER N.D.S.

¢.2) E)10_WooD:
— #14—10 PANELMATE FEMALE D ANCHORS, AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.
— #14-10 PANELMATE INSERTS, AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.

C.3) MINIMUM THREADED PENETRATION OF LAG SCREW, INTO THE WOOD FRAME UNIT SHALL BE 1 1/2". NO THREADED PENETRATION INTO STUCCO
SHALL BE CONSIDERED AS PART OF THE REQUIRED THREADED PENETRATION.

C.4) MINIMUM THREADED PENETRATION INTO WOOD PANELMATE FEMALE ID ANCHORS SHALL BE 1 7/8" AND 1 5/8 " FOR PANELMATE INSERTS.
C.5) MINIMUM EDGE DISTANCE (E.D.) OF LAG SCREWS, INTO WOOD SHALL BE AS INDICATED ON SHEETS 5, 7, 10 & 12.

C.6) MINIMUM EDGE DISTANCE (E.D.) OF PANELMATE FEMALE ID, INTO WOOD SHALL BE AS INDICATED ON SHEETS 5 & 10.

C.7) MINIMUM EDGE DISTANCE (E.D.) OF PANELMATE INSERTS, INTO WOOD SHALL BE AS INDICATED ON SHEETS 7 & 12.

C.8) IN CASE THAT PRECAST STONE, OR PRECAST CONCRETE PANELS, STUCCO OR WOOD BOARDS BE FOUND ON THE EXISTING WALL, ANCHORS
SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEMIND SUCH PANELS. ANCHORAGE SHALL BE AS MENTIONED IN C.3) & C.4)

(D) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.

9. T SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE PRODUCT IS TO BE ATTACHED TO
INSURE PROPER ANCHORAGE. THIS PRODUCT SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

10. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL PRODUCT COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH THE BUILDING
TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL PRODUCT TRACKS ALL AROUND FULL LENGTH.

11. THIS PRODUCT INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS PROVIDED BY
THE JURISDICTION WHERE PERMIT IS APPLIED TO.

12. (A) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE
SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

(B) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT BASED ON THIS
P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE
CONTRACTOR’S RESPONSIBILITY.

(C) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(D) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME THE ENGINEER OF
RECORD (E.O.R.}) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.A.D. ENGINEER OF RECORD, ACTING AS A
DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(E) THIS P.AD. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.

13. PRODUCT MANUFACTURER'S LABEL SHALL BE PLACED ON A READILY AND VISIBLE LOCATION AT PANEL.
ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
LABEL SHALL READ AS FOLLOWS:

G.D.T. HOLDINGS
MAGMA, UDTAH.
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED. . 0 .
FLORIDA BUILDING CODE (High Velocity: Hurricane Zone)

MIAMI-DADE COUNTY

© 2009 TILTECO INC, THE GUARDIAN HURRICANE COVER DIRAA/VLNC?/“
07/3/08
s / "|—|——'| iIEco \ G.D.T. HOLDINGS /3/0
WP TS e ) 3591 SOUTH PLEASANT GREEN DRIVE.
Q‘a;jf_,.mm«:w—— ~«——«~~—~~-“> INC. MAGMA, UTAH 84044
T /‘f’% TILLIT TESTING & ENGINEERING COMPANY PHONE: (801)420-3285  FAX: (801)796-7379 09-128
/ /7/ / “ 6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33186 ORAWING N
Phone : (305)57€:é§8%del-'7u>1¢5 (30)871-1531 REV. NO DESCRIPTION DATE | REY. No DESCRIPTION DATE °
P.E. SEAL/SIGNATURE/DATE WALTER A. TILLIT Jr., P.E. ! 3
, FLORIDA Lic. 44167 2 P SHEET 1 OF 14




6.00"

EQ

2.00" 2.00"—= 75" |-
0.090"
:‘ Q.
Q H
AN < v v
i +
=) _0.290"2 x 3 :
N D 20.290" x 6
3 o 3
e} : N
= 3
S @ >
N
~——WIDTH x HEIGHT @ (B) (SEE ELEVATIONS ON SHEETS 3 & 9 o 3
s N
AYe I K
" & ? — @
®) 0.250” THICK RUBBER SHEET oo 2
— TENSILE STRENGTH: (ASTM D412) S r
PARALLEL TO GRAIN FLOW 750 psi. S
PERPENDICULAR TO GRAIN FLOW 575 psi. ot © ~1.00"
—~ ELONGATION: (ASTM D412) '
PARALLEL TO GRAIN FLOW 140 %.
PERPENDICULAR TO GRAIN FLOW 125 %. PERIMETER BAR (FRONT) (© PERIMETER CORNER BAR (FRONT)
— DUROMETER HARDNESS A2: (ASTM D2240): 70 POINTS. ASTM A—653 CQ ASTM A—653 CQ
— DENSITY: (ASTM D297): 1.03 g/cm3 GRADE 33, G—60 GRADE 33, G—60
GALVANIZED STEEL. GALVANIZED STEEL.
75" - 374"

)! jQ:139 4.00"

%)

EQ

[8+]
@
¢

¥ Ne {NOMINAL)
%# é% 2 E 2 T
L . ;
0.290"2 x 2 L2 3
oz ™~
LENGTH VARIES W/ SPECIMENS = WIDTH OR HEIGHT + 2 1/2" 2(23 -
(SEE ELEVATIONS ON SHEETS 3 & 9) z L
l —H——.OQS"
”
) CONT. CROSS STRAP (REAR) (£) B.0. WOOD FRAME F) 3/8"_B.O.
98 p=199
ASTM_A—653 CQ NS PERIMETER "F” TRACK (REAR)
GRADE 33, G680 6063-T6 ALLOY
GALVANIZED STEEL. PRIMER PAINT.
FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
PEGDUCT REVISER: ©2009 TILTECO INC. THE GUARDIAN HURRICANE COVER iy,
M eompiyteg with the il
07/3/08
e, G.D.T. HOLDINGS A
‘ A . ‘ IL E c o INC. 3591 SOUTH PA.EAL‘%T{T si%iaN DRIVE.
) Py 4 TILLIT TESTING & ENGINEERING COMPANY PHONE: (801)420 -3285 FAX: (801)796~7379 09—128
- % or / ‘{/?{J/ e gh“gné’w‘(agg) SEt?B-_ggg VIE%::IA(%SRFE'EJ;IS]JMSE REY, NO DESCRIPTION DATE REY. No DESCRIPTION DATE DRAWING No
Diviston. \jAv-DADE COUNTY P.E. SEAL/SIGNATURE/DATE WALTER A. TILLIT Jr., P.E. : : SHEET 2 OF 14
FLORIDA Lic. 44167 2 4




FROM 49" UP TO 96" MAX. WIDTH @ (B
£Q £Q —EQ £Q

1/5 ANCHORS (PANELMATE
4> 2/6 INSERT FOR CONCRETE
- - % /—®(REAR CONT.) BLOCK OR PANELMATE
(rve.) ngn 3/7 FEMALE ID FOR WOOD
; [a] 4/8 Py I o] Py 1] e @. P
== =R e = = =
f
e o O/ i i e
° i R ' o i B
7 1 ! 7% ] %
7 iy 1] , N ) // H
/% i 77 i I
r /$ (REAR) | 7, " 7 1 /7 g
‘ ///’ 3 REQ'D. ‘l / / |.| % //J//// |'; // //
(REAR CONT.) M VERTICAL i i ; //%} } i : : i E ///%
ANCHORS (PANELMATE ez | ‘ | M | ’ | | { | // %
@  INSERT FOR CONCRETE i s s ] /////////
@ BLOCK OR PANELMATE I I (REAR) | -
. FEMALE ID FOR WQOD i ] 1 REQ'D. N
5 TP.e® LT :L: | ’ | HORIZONTAL U: g
: M ST TS T T S T T g T e e T e e e s e e
. 1 il H
§ o i I [
Q ' [ i : I
, ! %/ 7 y N
1 Lyl /// I
A 7 i 20 ' ww Iy
1A/5 : Z/% :.: %/%3 :|: //% 1A/5 /
20/6 | / /$ 1 ‘ | ////// {\} | // /S 2A/6 g
38/7 | /// | | | ////J[///% | | | // 34/7
4A/8 | //% i ' : : ' : / % 4A/8
/ | 7. /J///% N ] /////%/////
| || | ] -
| 1! i Q
| | | :
| * ! o
| | °c_°
N hd %] hd %I hd hd
~=7 /5 ANCHORS (PANELMATE
&2/ 6 (REAR CONT.) INSERT FOR CONCRETE
iﬁg %EEI\C‘:EE)AIJI-SN?T'EH%{H— 3/7 BLOCK OR PANELMATE
' FEMALE ID FOR WOOD
4/8 ™. @ @)
TYPICAL PANEL CONFIGURATION ELEVATION. *
SCALE: 1/8"=1"
* SEE INSTALLATION PROCEDURE ON SHEET 4 . _ _
FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
ABDUCT REVISER: ©2009 TILTECO INC. THE GUARDIAN HURRICANE COVER DRAWN p:
S sobnoce oo 14 o iy e\ crmwe &
Aeeepiing: No °'°z°'zt,°4' o » ’ / IL E c o \ Ul DATE
Erpirs O o (*\, O » =G . . 3591 SOLb‘ATA’:lG;ALEAUﬁ%T(T aG4R°E4.E4N DRIVE.
: 3 M / a" 3 : &m‘f}*‘ <o = TILLIT TESTING & ENGINEERINlG"C?JMPANY PHONE: (B01)420-3285  FAX: (801)796-7379 09-128
'. dsaah 1 P - ¢ 4 ‘ / %/Cf%;fﬁ e ghﬁhe&ﬁ:kt‘(‘sggj’a?&g‘_gggd:%?'?(%g% %NF_.S&"“‘EE REV, NO DESCRIPTION DATE REY. No DESCRIPTION DATE DRAWING No
Di¥iston. " pAMI-DADE COUNTY P E. SEAU/SIGNATURE/DATE WALTER A, TILLT Jr. P.E. ! : SHEET 3 OF 14




R
/N
i

' /
’ /
’

&
&
s

INSTALLATION PROCEDURE:

(1) INSTALL (F) W/ ANCHORS INTO WALL (WALL

MOUNT OR BUILD OUT) SEE SHEETS 3 & 9,
ALL AROUND.

(2) INSTALL (3) (D) REAR CROSS STRAP (VERTICAL)
INTO ANCHORS.

(3) INSTALL (1) ©) REAR CROSS STRAP (HORIZONTAL)
INTO ANCHORS.

(4) INSTALL (B) RUBBER SHEET INTO (F) USING
BOLTS.

(5) INSTALL (B) PERIMETER BAR @ (8) REQ'D. INTO
BOLTS.

(6) INSTALL (C) PERIMETER CORNER BAR @ (4) REQ'D.
INTO BOLTS.

(7) INSTALL WING NUT INTO ANCHORS AT EACH
BOLTS LOCATION.

INSTALLATION PROCEDURE FOR@

INTO WALL OR B.0. WOOD FRAME

N.T.S

NOTE: PROCEDURE IS SIMILAR FOR 4’-0"x4’—0" INSTALLATION.

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

PRGRUCT REvVisED
’mp"}ﬂ.‘ﬁg Widh fiae Lan &%
Suliding Code

Aecepisac: No/D- 67072 .04

Sxpiration Bac03 /0 & /7. 0 3

MIAMI-DADE COUNTY

s d

P.E. SEAL/SIGNATURE/DATE

©2009 TILTECO INC. THE GUARDIAN HURRICANE COVER f’lRAA/“:ANC%Y‘
07/3/08
G.D.T. HOLDINGS /370
IL E C o INC. 3581 SOUTH PLEASANT GREEN DRIVE.
MAGMA, UTAH 84044
TILLIT TESTING & ENGINEERING COMPANY PHONE: (801)420~3285  FAX: (801)796-7378 09-128
6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166 DRAWING N
Phane : (305)87é51_53?)06F7a,1(g (305)871~1531 REV, NG DESCRIPTION DATE REV. No DESCRIPTION DATE e
WALTER A, TILLIT Jr., P.E. ! 3
FLORIDA Lic. 44167 P X SHEET 4 OF 14




WALL FINISH

1/4"@ LAG SCREWS W/ 1 1/2" MIN.

FEMALE ID W/ 1/4"2—20x2 1/4" S.S.
BOLTS (SEE SCHEDULE ON SHEET 14)

THREADED PENETRATION (AS SHOWN) OR
1/4"@ ELCO CONSTRUCTION PANELMATES

11
MIN.

/2"
E.D.

EXISTING WOOD
HEADER REQ'D.

|
|
|
EXISTING ! ]
oLass WASHERS ! e
i % 1 Q
T W :
" l @ R
l————————6" MIN. SEPARATION TO GLASS ) Xe o
I VA 1] = v
;; 4 B g
EXISTING 1 1/47@ x1 1/2" LAG SCREWS I
i @ 12" 0.C. W/ 3/4"@ FLAT I ~(B)OR(C)
i WASHERS I
P
EXISTING WOOD ;{ _ 3" #8 GRABBER !
2'x4" PLATE | SCREWS @ 6" O.C. L)
REQ'D. \ |
L L
H 75" Il\\B .75
I .

. 75" 1/4"@—-20x1" S.S. BOLTS
2 Y r 7/8"0x3/32" WING NUT
N | @ SPACING INDICATED

. N | 1.25 e®&© (TP).
\ -
al N i .
. .75
R T |
. : '
% .
\% )
N/ / //// I} \waLL FinisH
¥
1/4"® ELCO CONSTRUCTION SECTION 1
PANELMATE FEMALE 1D W/ NOTE: @ NOT SHOWN
FOR CLARITY.

R Y

3" #8 GRABBER

SCREWS @ 6" 0.C.
1/4"@ x1 1/2" LAG SCREWS
@ 12" 0.C. W/ 3/4"@ FLAT

o« ;
75"
TaSai aNAY ]
1.25" 1/4"g—20x1" S.S. BOLTS
W/ 7/8'9x3/32" WING NUT
Iy @ SPACING INDICATED
75" e® & © (TrP).
! W75

MAX.

1/4"2-20x2 1/4" S.S. BOLTS (AS

SHOWN) OR 1/4"@ LAG SCREWS W/

(SEE DETAIL X/14)

1 1/2" MIN. THREADED PENETRATION
(SEE SCHEDULE ON SHEET 14)

B.O. MOUNT

EXISTING 2"x4" WOOD

EXISTING
GLASS

3" #8 GRABBER |

SCREWS @ 6" O.C.

EXISTING 2"x4" WOOD

2.25" STUDS REQ'D.
—~.75%=75" |~

A AN AN
/] é
/
3 f75" %
T MA ED 2
. 2

: //SHEEI' 14)

\_WALL FiINISH

1 .25"15"

f

1/4"@ ELCO CONSTRUCTION
SPANELMATES FEMALE D W/
1/4"6—20x2 1/4" S.S. BOLTS

1(AS SHOWN) OR 1/4"@ LAG SCREWS
w/ 1 1/2" MIN. THREADED
PENETRATION. (SEE SCHEDULE ON

B s
1/4"8 x1 1/2" LAG SCREWS
@ 12" 0.C. W/ 3/4"@ FLAT
il WASHERS
=Tz
[ S0

STUDS REQ'D.
2.25"
- 757 5" e EXISTING
Z AN IIIISY, GLASS
) 278 |
MiN. 2. [
1/4"8 LAG SCREWS W/ 1 1/2" MIN. 2 o
THREADED PENETRATION (AS SHOWN) OR o
1/4"3 ELCO CONSTRUCTION PANELMATES . a
FEMALE ID W/ 1/4"2-20x2 1/4" SS5. = e —— 3
BOLTS (SEE SCHEDULE ON SHEET 14) [ir R o
< T o,
WALL FINISH g
=
<
3" #8 crABBER g
= SCREWS @ 6" 0.C. £
Z
-] 75%—1.25" |- s
io
— 75%75" |-
1/4"@ x1 1/2" LAG SCREWS
@ 12" 0.C. W/ 3/4"@ FLAT
WASHERS
1/4"3—-20x1" S.S. BOLTS

W/ 7/8'@x3/32" WING NUT @
SPACING INDICATED @ ® & © (TYE).

®or
———————FROM 49" UP TO 96" MAX. WIDTH @ G)————

~l 75"

1/4"@-20x1" S.S. BOLTS
W/ 7/8"0x3/32" WING NUT @
| SPACING INDICATED @ ® & © (TYP).

101.50" MAX.

N

_WOOD WALL

SCALE : 3/8"

SECTION 1A

NOTE: © NOT SHOWN

FOR CLARITY,

(SEE DETAL X/14)

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

iy ages

P.E. SEAL/SIGNATURE/DATE

© 2009 TILTECO INC.

/ liLTEC O . X

EB-0006719
WALTER A. TILLIT Jr., P.E.
FLORIDA Lic. 44167

(305)87

TILLIT TESTING & ENGINEERING COMPANY

6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : (305)871—1530 . Fax :

1-1531

DRAWN BY:
THE GUARDIAN HURRICANE COVER e,
G.D.T. HOLDINGS oo
3591 SOUTH PLEASANT GREEN DRIVE.
MAGMA, UTAH 84044
PHONE: (801)420-3285 FAX: (801)796-7379 09-~128
DRAWING No

REV. NO

DESCRIPTION DATE REV. No DESCRIPTION

DATE

3

4

SHEET 5 OF 14




1/4"@ ITW BUILDEX TAPCON ANCHORS. (AS
SHOWN) OR 1/4"@ ELCO CONSTRUCTION

PANELMATE INSERTS W/ 1/4"2—20x2 1/4"
S.S. BOLTS (SEE SCHEDULE ON SHEET 14)

'///
5&)" 101.50" MAX.

1/4"® x1 1/2" LAG SCREWS

@ 12" 0.C. W/ 3/4"@ FLAT

/ WASHERS
1.50" 1/4"@~20x1" S.S. BOLTS
W/ 7/8"8x3/32" WING NUT
SEE GENERAL i ! | © SPACING INDICATED BOURED CONCRETE OR
NOTE 8/1 75" 50" °@&OmP). CONCRETE BLOCK WALL
o > | N REQ’D. 1/4"@ ELCO CONSTRUCTION PANELMATE
/ ! . 1/4"@ TW BUILDEX TAPCON ANCHORS. %/ INSERTS W/ 1/4"0—20x2 1/4" S.S.
||_ 75 (AS SHOWN) OR 1/4"@ ELCO MIN. E.D. EXISTI EXISTING MIN. E.D. BOLTS (AS SHOWN) OR 1/4"@ ITW
i e CONSTRUCTION PANELMATE INSERTS W {-—SEE GENERAL GLASS GLASS SEE GENERAL BUILDEX TAPCON ANCHORS.
i r 1/4"2-20x2 1/4" S.S. BOLTS (SEE_K NOTE 8/1 L = m e e e NOTE 8/1 /(§EE SCHEDULE ON SHEET 14)
EXISTING ! 3" #8 GRABBER i SCHEDULE ON SHEET 14)
POURED CONCRETE OR i SCREWS @ 6" 0.C. @ b
CONCRETE BLOCK WALL i o
REQ'D. i I or(C)
EXISTNG _} Pl N
GLASS | b =
i W L3 %
:; [ T ¥
. w2
» <<
|—————6" MIN. SEPARATION TO GLASS ~————] §© E |.3" #8 GRABBER 3" #8 GRABBER |
. A SCREWS @ 6" 0.C. SCREWS @ 6" 0.C.
: = ? ]
EXISTING M 50— 1.50" — <. —1.50" —L50"—
class 1 Ne

EXISTING 1
POURED CONCRETE OR !

®
¥

—————6" MIN. SEPARATION TO GLASS

3" #8 GRABBER - . 75%4=75" |—

CONCRETE BLOCK WALL ; =75 RTS" =
REQD. —\ [s‘cmzws @ 6" 0C.

. " "

o " " 1/4'8 x1 1/2" LAG SCREWS
. 1/4"8 x1 1/2" LAG SCREWS \
75" R 75 @/12" oc. /W/ 3/4°0 FLAT @ 12" 0.C. W/ 3/4'0 FLAT
MIN. E.D. WASHERS - WASHERS
SEE GENERAL A oy L—
NOTE 8/1 - 1/4"@-20x1" S.S. BOLTS _J,50' Hso”
7/8"8x3/32" WING NUT . . 1 . "
T f PN NN 1/4"6-20x1" S.S. BOLTS |__1/4"0~20x1" S.S. BOLTS
" e® & © (TP). W/ 7/8°@x3/32" WING NUT W/ 7/8"0x3/32" WING NUT
.50 @ SPACING (NDICATED . .| ©@ SPACING INDICATED
1/4°0 x1 1/2" LAG SCREWS @® & © (TYP). e® & © (vp).
L @ 12" 0.C. W/ 3/4"@ FLAT

'5t° WASHERS ——————FROM 49” UP TO 96" MAX. WIDTH @ B—————
1/4"8 ELCO CONSTRUCTION PANELMATE ®
INSERTS W/ 1/4"g-20x2 1/4" S.S. SECTION 2A
BOLTS (AS SHOWN) OR 1/4"@ ITW NOTE: © NOT SHOWN
BUILDEX TAPCON ANCHORS. (SEE FOR CLARITY.
SCHEDULE ON SHEET 14) SECTION 2 (SEE DETAIL X/14)

NOTE: B NOT SHOWN
FOR CLARITY.

(SEE DETAIL X/14)

B.O. MOUNT IN POURED CONCRETE
OR_CONCRETE BLOCK WALL

SCALE : 3/8"
FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
PABBUCT REVISER ©2009 TILTECO INC. THE GUARDIAN HURRICANE COVER e
® ecomplylag wich the Wi-ddll AMLCY.
Suiding Code 07/3/09
Aceepteae: Mo O - OZOZ 04_ G.D.T. HOLDINGS DATE
, r»w IL E c o INC 3591 SOUTH PLEASANT GREEN DRIVE.
/ ’ Qe e m et 5«’@3\3 : MAGMA, UTAH 84044
/ 7 g =2 TILLIT TESTING & ENGINEERING COMPANY PHONE: (801)420-3285  FAX: (801)796-7379 09-128
H : , VIRGINIA GARDENS, Fl, 3318
/ 1// OV/’ ij o= gvg"esszth(sg‘r'mi;f?gg VIF"fl‘g: (335)0 SR T REV. NO DESCRIFTION DATE | REv. No DESCRIPTION DATE DRAWING No
' . WALTER A. TILLIT Jr., P.E. i :
MIAMI-DADE COUNTY P.E SEAL/QGNATURE/DATE oA L 44"1 5 " " SHEET 6 OF 14




WALL FiNISH

- ;
% 1/4"3 LAG SCREWS W/ 1 1/2" MIN.
EXISTING WOOD % // THREADED PENETRATION (AS SHOWN) w/
HEADER REQ'D. [ 3/4"@ FLAT WASHER OR 1/4"@ ELCO
] CONSTRUCTION PANELMATE INSERTS W/
& 1/4"2-20x1 1/4” S.S. BOLTS (SEE
% _ SCHEDULE ON SHEET 14)
%
7 ’ : 1/4"8~20x1" S.5. BOLTS
/1 W/ 7/8"@x3/32" WING NUT @ SPACING
% ‘ /{? INDICATED @ ® & ©) (TYP).
,/ = EXISTING 2"x4” WOOD P12 ' 1/ EXISTING 2"x4" WOOD
; r | . STUDS REQ'D. =N Eol™ N e STUDS REQ'D.
X VE. VE
11/2" % i ! -
MIN.ED. [ N E@- EQ | EXISTING EXISTING Sl
2 \ : bof 1 722 77 777777 OLASS GLASS AVAERNRNANANANNNNNNH NN
o< =~ || : L [ ] Z
o AN JIN ! SIAN B e o e L e
= | @x0 Z . | 1
| | ! Z [IE I =
EXISTING ! i < 1 &8 ' 4
GLASS i I @ / 0
LA [ " / 40 /
I v 11 I 0
|6 1/4" MIN. SEPARATION | % % ) Y //
I TO GLASS —! I S — > e
v 1 g R e © F - , -
EXISTING ! / = N N § _ S\WALL FINISH
eLss ® WALL FINISH r 1T ]_ 7 ,
! B 50° 1/4"@ ELCO CONSTRUCTION PANELMATE

NSERTS W/ 1/4"2-20x1 1/4" S.S,
BOLTS (AS SHOWN) OR 1/4"@ LAG
SCREWS W/ 1 1/2” MIN. THREADED
PENETRATION W/ 3/4"0 FLAT WASHERS
(SEE SCHEDULE ON SHEET 14)

1/4"@ LAG SCREWS W/ 1 1/2” MIN.
THREADED PENETRATION (AS SHOWN) W/ )
3/4"@ FLAT WASHER OR 1/4"@ ELCO 75
CONSTRUCTION PANELMATE INSERTS W/

1/4"2-20x1 1/4" S.S. BOLTS (SEE

SCHEDULE ON SHEET 14)

I
]
i
EXISTING WOOD 2"x4" I

PLATE REQ'D. !

e}
o
vl

1/4"@-20x1" S.S. BOLTS

N " "
\ \ —— . 1/4°-20x1" SS. BOLTS [ FROM 49" UP TO 98" MAX. WIDTH @ & | W/ 7/8"8x3/35" WING NUT @ SPAGING
1N . - W/ 7/8"@x3/32" WING NUT @ SPACING INDICATED @ ® & ©) (TYP).
g \\ } 2 INDICATED @ ® & ©) (TYP).
f : SECTION 3A
o E: 50" 1/4"2-20x1" S.S. BOLTS .
T \\ ’ ' \M/ 7/8"0x3/32" WING NUT @ SPACING ESQE;;(RR’,‘%T SHOWN
T 7 INDICATED ® @ & ©) (TYP), (SEE DETAIL X/14)
N\ 1/4"@ ELCO CONSTRUCTION PANELMATE
§ : INSERTS W/ 1/4"2-20x1 1/4" S.S.
BOLTS (AS SHOWN) OR 1/4"8 LAG
N K SCREWS W/ 1 1/2" MIN. THREADED
§ _ PENETRATION W/ 3/4"@ FLAT WASHERS
IR, | oS s WALL MOUNT IN WOOD WALL
' MLL FINISH
SCALE : 3/8" = 1"
NOTE: @ NOT SHOWN
FOR CLARITY,
(SEE DETAL X/14)
FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
PRGBUCT REVISER ] DRAWN BY:
= com with the Taedl 7 © 2009 TILTECO INC. THE GUARDIAN HURRICANE COVER LA/MCY.
Suiding Cede
. -0202. 07/3/09
s nelOopLoL 04 G.D.T. HOLDINGS oare
< - ﬁ""‘::ﬁé\) IL E c o INC. 3591 SOLhJ"I;I\-IG Jkaﬁsm‘r si%i? DRIVE.
e T = .
- ; f’» ) ' TILLIT TESTING & ENGINEERING COMPANY PHONE: (801)420-3285  FAX: (801)796-7379 09-128
('3 ¢ d 3 6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl, 33166
Tistan. / 7/} / j Phone : (305)57:;51—588(56??9: (305)871-1531 REY, NO DESCRIPTION OATE | REV. No DESCRIRTION DATE DRAWING No
MIAMI-DADE COUNTY P.E. SEAL/SIGNATURE/DATE WALTER A. TILLIT Jr., P.E. 1 : SHEET 7 OF 14
FLORIDA Lic. 44167 2 N




1/4"@ ITW BUILDEX TAPCON ANCHORS.
(AS SHOWN) W/ 3/4"3 FLAT WASHER OR

1/4"9 ELCO CONSTRUCTION PANELMATE
INSERTS W/ 1/4"9~20x2 1/4" S.S. BOLTS
(SEE SCHEDULE ON SHEET 14)
=
< -~
siiy |
EXISTING ui Z © I
POURED CONCRETE OR i '
CONCRETE BLOCK £.9 .
WALL REQ'D. & [
. I
n B
:: !
:.' 1
EXISTING b
Glass -
[ W//\F L
L] v 1
L6 1/4" MN. SEPARATION | |
I T0 Glass 7 |
L A L1
ii —WA\ T—
EXISTING __y
GlAsS i
EXISTING 7

POURED CONCRETE OR
CONCRETE BLOCK
WALL REQ'D.

MIN. E.D.
SEE GENERAL
NOTE 8/1

1/4°@ ELCO CONSTRUCTION PANELMATE
INSERTS W/ 1/4’0—20x2 1/4" S.S.
BOLTS (AS SHOWN) OR 1/4"@ ITw
BUILDEX TAPCON ANCHORS W/ 3/4™9
FLAT WASHERS.

(SEE SCHEDULE ON SHEET 14)

SECTION 4

NOTE: @ NOT SHOWN
FOR CLARITY.

(SEE DETAIL X/14)

1/4"@-20x3/4" S.S. BOLTS
W/ 7/8"0x3/32" WING NUT @ SPACING
INDICATED @ ®) & ©) (TYP).

(SEE SCHEDULE ON SHEET 14)

48" MAX. HEIGHT @ (B—

1/4"0-20x3/4" S.S. BOLTS
/ 7/8"@x3/32" WING NUT @ SPACING
INDICATED @ @ & ©) (TYP).

1/4°@ ITW BUILDEX TAPCON ANCHORS.
(AS SHOWN) W/ 3/4"@ FLAT WASHERS OR
1/4"@ ELCO CONSTRUCTION PANELMATE
INSERTS W/ 1/4"2—20x2 1/4" S.S. BOLTS

1/4"@-20x3/4" S.S. BOLTS
W/ 7/8"@x3/32" WING NUT @ SPACING
INDICATED @ ® & ©) (TvP).

EXISTING
EXISTING e EXISTING POURED CONCRETE OR
POURED CONCRETE OR ./ CONCRETE BLOCK
CONCRETE BLOCK T WALL REQ'D.
WALL REQ'D. N\ e S
F=1=7r
MIN. E.D. z MIN. E.D. 1/4"@ ELCO CONSTRUCTION PANELMATE
SEE GENERAL% = SEE GENERAL INSERTS W/ 1/4"2-20x2 1/4" S.S.
NOTE &/1 % 0 NOTE 8/1 BOLTS (AS SHOWN) OR 1/4’@ ITW
? ég % BUILDEX TAPCON ANCHORS W/ 3/4°@
3 FLAT WASHERS.
o (SEE SCHEDULE ON SHEET 14)
B F /
>
w
_____________ j I

1/4"0-20x3/4" S.S. BOLTS
W/ 7/8°@x3/32" WING NUT @ SPACING
INDICATED @ ® & ©) (TYP).

FROM 48" UP TO 96" WIDTH @ B

SECTION 4A

NOTE: @ NOT SHOWN
FOR CLARITY.
(SEE DETAIL X/14)

WALL MOUNT IN POURED CONCRETE

OR CONCRETE

SCALE : 3/8"

BLOCK WALL

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

-0Z0%.¢
S P 4

© 2009 TILTECO INC.

g

/TiLIEC O e, \

WALTER A. TILLIT Jr., P.E.

P.E. SEAL/SIGNATURE/DATE
FLORIDA Lic. 44167

R b i
a = TILLIT TESTING & ENGINEERING COMPANY
= > LW, . St., Ste. S, VIRGINIA GARDENS, Fl. 33166
(Y o 0 AR N SRR
E -

THE GUARDIAN HURRICANE COVER HR:‘/"(ANCQ/Y
07/3/09
G.D.T. HOLDINGS /3/C
3591 SOUTH PLEASANT GREEN DRIVE.
MAGMA, UTAH 84044
PHONE: (801)420~3285 FAX: (801)796-7379 09—-128
REV. NO DESCRIFTION DATE REV. No DESCRIPTION DATE DRAWING No
; : SHEET 8 OF 14




48" MAX. WIDTH @ ®

£Q —£Q
5/10

3" 6/11
i Ochin _ ngn %7/12 /—®
8/13 (REAR CONT.)

‘Q_ I V. »
g D\.
! !
FRONT, ~
H (4 REQ'D +
h TYP.) .
—b ‘ : i ”n
/ vl . 7 i
! | //%/ | i
VO i ) | ;
(REAR CONT.) / //// VERTICAL N %/// |
/49 IFI / % l
ANCHORS (PANELMATE | | l /////// |
o MBGE L |
©  FEMALE ID FOR_WOOD {H (REAR) ‘
= ™PeD ] 1] 1 REQ'D. ,
2 AUl i HoRZONTAL \ nyi
t { ety ‘:_“:l _____ :
>
< DETAIL X/14 b
; / |’ |} / (REAR CONT.)
<F | || i
I
I
\a @& V
5A/10 | ¥ 5A/10
6a/11 | /| 6A/11 &
7A/12 : B 7a712 Y
8A/13 | 1 BA/13
| ¥
| |
| h
| |
! X
| f‘
|
\
- ANCHORS (PANELMATE /
SEE GENERAL NOTE 8/1 INSERT FOR CONCRETE (REAR CONT.)
AND SECTIONS 5 THRUB. BLOCK OR PANELMATE
FEMALE ID FOR WOOD
TYP. @ (D)
TYPICAL PANEL CONFIGURATION ELEVATION *
SCALE: 1/8"=1"
* SEE INSTALLATION PROCEDURE (SIMILAR) ON SHEET 4 FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
PABBUCT REVISEE. ©2009 TILTECO INC. THE GUARDIAN HURRICANE COVER PRAWN BY:
xmyﬁ with the Tart : y / —
"S" = ANCHOR SPACING Smepisec o fo-0202 08 | S / TiLlEco v \ G.D.T. HOLDINGS
(SEE SCHEDULE ON SHEET 14) g | De=See ([ ILIECOwme \| o pgmrmmen 09-128
;ﬁ iy ' ‘ / g//;&&%ﬁ e ghﬁheﬁ;ﬂ‘(}gg)‘ﬂfég‘ggi’d:'%?'?(%g)%%ﬂs_.‘gs‘sm66 REV. NO BESCRIPTION DATE | REY. No OCESCRIPTION DATE ORAWING No
T MIAMIDADE COUNTY P.E. SEAL/SIGNATURE/DATE WAI;_E%RRISTA T dr. PE. : 2 SHEET 9 OF 14




WALL FINISH

==

\

—

I,f

1/4°8 LAG

SCREWS W/ 1 1/2" MIN.

THREADED PENETRATION (AS SHOWN) OR
1/4"@ ELCO CONSTRUCTION PANELMATE
FEMALE ID W/ 1/4"2-20x2 1/4” S.S.
BOLTS (SEE SCHEDULE ON SHEET 14)

AR Thhm I it

. 75"
T
1.25" 1/4"0-20x3/4" S.S. BOLTS
1 1/2" W/ 7/8"0x3/32" WING NUT
MIN. 'E.D. Ly @ SPACING INDICATED
\ s e® & © (Trp).
R
‘ 7 .75,.
I !
3" #8 GRABBER ||
EXISTING WOOD /} SCREWS @ 6" 0O.C. I
HEADER REQ'D. ! p i
1/4"@ x1 1/2" LAG SCREWS o
! @ 12" 0.C. W/ 3/4" FLAT . orR(©)
EXISTING WASHERS Il
GLASS } i } &
r = - e
T 2
i [ © g%
-————————6" MIN. SEPARATION TO GLASS ~——————| | X0 B"z‘
— ——h— L z
H —V T ®
EXISTING
GLASS 1/4"0 x1 1/2" LAG SCREWS

EXISTING WOOD

I
i
1
I

@ 12" 0.C. W/ 3/4" FLA

WASHERS
3" #8 GRABBER

2"x4" PLATE SCREWS @ 6" 0.C.
REQ'D. 1 | [‘ | ~—® e
757 D .75
’ |
" 50" !
2.75" 7 : 1/4"9-20x3/4" S.S. BOLTS
TR : 7/8"9x3/32" WING NUT
f t @ SPACING INDICATED
g % 1.25" e® & ® (1vp).
\ -
2 § R 75"
N /7 T \ o f
\
\
L\ / / /// // [+ \wALL FinisH
Y J SECTION 5
1/4"@ ELCO CONSTRUCTION .
PANELMATE FEMALE 1D W/ E‘SFIE-C(RR',“%T SHOWN

1/4"2—-20x2 1/4" S.5. BOLTS
(AS SHOWN) QR 1/4"@ LAG SCREWS
W/ 1 1/2" MIN. THREADED

PENETRATION

(SEE SCHEDULE ON SHEET 14)

(SEE DETAIL X/14)

B.O. MOUNT IN

EXISTING 2"x4” WOQOD

STUDS REQ'D. EXISTING 2"x4” WOOD
2.25" 2.25" STUDS REQ'D.
N\ 755" EXISTING EXISTING —.75*75" =
D, 7 GLASS ELLSS AR \>\/‘>\
Z A
// M L~
</ 2.7 = '75ED /> 1/4"@ ELCO CONSTRUCTION
4 MIN. 2. | . : | PANELMATE FEMALE ID W/
2 k . " "
1/4'0 LAG SCREWS W/ 1 1/2" MiN. | 7] . L ,—(1{54 QHS% 2)441 /54'% et
THREADED PENETRATION (AS SHOWN) / = SCREWS W/ 1 1/3" MIN
OR 1/4"@ ELCO CONSTRUCTION — / N a : // THREADED 'PENETRATION
PANELMATE FEMALE 1D W/ = ] S : = (SEE SCHEDULE ON SHEET 14)
1/4'2-20x2 1/4" S.S. BOLTS (SEE I —— sl B o — ===
SCHEDULE ON SHEET 14) NN ) o ) R .
z © WALL FINISH
g 2
WALL FINISH 3" #8 GRABBER = 3" #8 GRABBER |
i SCREWS @ 6" 0.C. uf SCREWS @ 6" 0.C.
z P
- . 75%~1.25" H -1 125" 75" -
o
—~ 7575" | kS e
1/4°8 x1 1/2" (AG SCREWS 1/4"@ x1 1/2" LAG SCREWS
@ 12" 0.C. W/ 3/4" FLAT___ | © 12" 0.C.'W/ 3/4" FUAT
WASHERS O [ WASHERS
=0 %m
1/4"3~20x3/4" S.S. BOLTS 50 [ :
W/ 7/8"2x3/32" WING NUT @ SPACING 1/4"@-20x3/4" S.S. BOLTS
INDICATED @ @ & ©) (TYP). W/ 7/8"@x3/32" WING NUT @ SPACING
— 75" ®)or _| 75+ | INDICATED @ ® & © (TYP),
48" MAX. WIDTH @ ()~
| 53.50” MAX.
NOTE: @ NOT SHOWN
FOR CLARITY.

(SEE DETAIL X/14)

WOOD WALL

SCALE : 3/8" = 1

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

PBBUCT REVISED. ©2009 TILTECO INC. THE GUARDIAN HURRICANE COVER DRAN B
2 complying with the Vol AM.CV.

by G.D.T. HOLDINGS o7/3/09

¢ - - IL E c o |Nc 3591 SQUTH PLEASANT GREEN DRIVE.
R > * MAGMA, UTAH 84044
e - TILLIT TESTING & ENGINEERING COMPANY PHONE: (801)420-3285  FAX: (801)796-7379 09-128
L 5 2 6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
/ y//'f/ ;_Pj Phone : (305)8751_58%0-6"75’{9: (305)871-1531 REV. NO DESCRIFTION DATE | REV. No DESCRIPTION DATE DRAWING No
- P.E. SEAL/SIGNATURE/DATE WALTER A. TILLIT Jr., P.E. 1 3
MIAMI-DADE COUNTY E. 8 GS E/ FLORIDA L. 44"1 57 . - SHEET 10 OF 14




1/4"@ ITW BUILDEX TAPCON ANCHORS. (AS
SHOWN) OR 1/4"@ ELCO CONSTRUCTION

PANELMATE INSERTS W/ 1/4"2—20x2 1/4"
S.S. BOLTS (SEE SCHEDULE ON SHEET 14)

Y,
7 |

=T
J e

T 53.50" MAX.
1/4"@ x1 1/2" LAG SCREWS

® 12" 0.C. W/ 3/4°@ FLAT
WASHERS
1/4"@-20x3/4" S.S. BOLTS

W/ 7/8'0x3/32" WING NUT
@ SPACING INDICATED EXISTING
e ® & © (1vP). POURED CONCRETE OR

‘ .
50" CONCRETE BLOCK WATL\
:r“ 1= | \ REQ'D. %/
7 f | ll 75" ., MIN. E.D. EXISTIN EXISTING MIN, E.D.
f' 1/4"@ ITW BUILDEX TAPCON ANCHORS. §§5 GLASSﬁ GLASS SEE GENERAL

SEE GENERAL
(AS SHOWN) OR 1/4"@ ELCO = oTE 8/1 NOTE &/1

MIN. E.D.
SEE GENERAL
NOTE 8/1

1/4"@ ELCO CONSTRUCTION PANELMATE
INSERTS W/ 1/4"5—20x2 1/4" S.S.
BOLTS (AS SHOWN) OR 1/4"@ ITW
BUILDEX TAPCON ANCHORS. (SEE

s s s m s s e e =t o = =

| !
EXISTING POURED CONCRETE | 3" #8 GRABBER
OR CONCRETE BLOCK WALL I SCREWS @ 6" 0.C.

1/4"6~20x2 1/4" S.S. BOLTS (SEE
SCHEDULE ON SHEET 14)

CONSTRUCTION PANELMATE INSERTS_W/\

|
!
REQ'D. ] |
i | OR
EXISTIM t ©
GlAsS ! = i ~—®) ®—
/— A (R [©]
I \/L T % .
I I S 3%
f—————6" MIN. SEPARATION TO GLASS ————f g@ B \\3_ #8 GRABBER 3" #8 GRABBER |
L A " 0C. SCREWS @ 6" 0.C.
: = o J TL SCREWS @ 6" 0.C j
EXISTING ¥ : " » ,
NG 50"—1.50" — —1.50" —={ 50"
EXISTING GlAss [

POURED CONCRETE OR H
CONCRETE BLOCK WALL )

REQ'D.

3" #8 GRABBER

FCREWS ® 6" V@
f

- 751'-( =75"

V- T
—®

-

SCHEDULE ON SHEET 14)

—————— 6" MIN. SEPARATION TO GLASS
A

" N 75" 1/4"@ x1 1/2" LAG SCREWS 1/4"@ x1 1/2" LAG _SCREWS
'7F N @ 12" 0.C. W/ 3/4°@ FLAT @ 12" 0.C. W/ 3/4"@ FLAT
SEhEMr\éEEI'E%AL WASHERS Y NV WASHERS
* =i
NOTE 8/1 _7% 1/4"0—20x3/4" S.S. BOLTS 5ot ==l 50"

T 7/8"@x3/32" WING NUT
@ SPACING INDICATED

@® & Q© (1vP).
1/4'8 x1 1/2" LAG SCREWS

1/4"0-20x3/4" S.S. BOLTS
W/ 7/8"0x3/32" WING NUT
@ SPACING INDICATED —~ .

e® & © (Tvp).

e
®or

1/4"@-20x3/4" S.S. BOLTS
W/ 7/8"@x3/32" WING NUT
© SPACING INDICATED

— 0® & © (TYP).

@ 12" 0.C. W/ 3/4°@ FLAT
WASHERS

48" MAX. WIDTH @ (&)

1/4°@ ELCO CONSTRUCTION PANELMATE
INSERTS W/ 1/4"2-20x2 1/4" S.S. SECTION 6A
BOLTS (AS SHOWN) OR 1/4"@ ITW NOTE: @ NOT SHOWN
BUILDEX TAPCON ANCHORS. (SEE FOR CLARITY.
SCHEDULE ON SHEET 14) SECTION 6 (SEE DETAIL X/14)
NOTE: @ NOT SHOWN
FOR CLARITY.

(SEE DETAIL X/14)

B.O. MOUNT IN POURED CONCRETE
OR CONCRETE BLOCK WALL

SCALE : 3/8" = 1"

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

©2009 TILTECO INC. THE GUARDIAN HURRICANE COVER ':’&A/‘LNCﬁZ:

] 07/3/08

/ ? \ G.D.T. HOLDlNGS b

R 5 s > 3591 SOUTH PLEASANT GREEN DRIVE.
Y Ty Singree. % IL E c o INC. MAGMA, UTAH 84044
,/ TILLIT TESTING & ENGINEERING COMPANY PHONE: (801)420-3285  FAX: (801)796-7379 09—-128
- e e 8355 N.W. 36th, St. Ste. 305, VIRGINIA GARDENS, Fl. 33186
/ %W Phone (305)57561_58%(56"70? g (305)871-1531 REV. NO DESCRIPTION DATE | REV. Na BESCRIPTION DATE DRAWING No
P.E. SEAL/SIGNATURE/DATE WALTER A. TILLIT Jr., P.E. : 3 SHEET 11 OF 14
FLORIDA Lic. 44167 2 4




WALL FINISH

.
72 IIE ,. .
EXISTING WOOD % - 1/4°0 LAG SCREWS W/ 1 1/2" MIN.
HEADER REQ'D. /4 ) THREADED PENETRATION (AS SHOWN) W/
7 7] 3/4"@ FLAT WASHERS OR 1/4°@ ELCO
7 : CONSTRUCTION PANELMATE INSERTS W/
% 1/4"0—-20x1 1/4" S.S. BOLTS (SEE
% . SCHEDULE ON SHEET 14)
% \\ ‘ . 1/4"0-20x3/4" S.5. BOLTS
l /] /—® méici\égozgz& V('C')N?TY';L)” © SPACING EXISTING 2"x4" WOOD ' 12 e EXISTING 2°x4” WOOD
Z . | STUDS REQ'D. ~N. E.D[— MiN. ED STUDS REQ'D.
7 " « — EQ EQH
] EG— EQ EXISTING EXISTING q
% ALY AAIS SIS ASSLIII CLASS GLASS RN AN NN RNV AN
112 Y N\ N g %
MIN. ED. [ = N /N IV R N b
4 \\ / 7
L i / z . >
= ®or©) . z [T Z\
L = o } ]
] = w5 1 -
I 7 a I L
EXISTING 2 -
Glass o Z ¥ ——— /_C
‘ 'ﬁl 5 —— - F T
o [ © M S |
I__6 1/4" MIN. SEPARATION | | | 1 WALL FINISH
! TO GLASS ..i ! * WALL FINISH T T T T T T T I q[TTTTTTT T 1 " TION PANELMATE
e — ] 5 b b I , 1/4"@ ELCO CONSTRUCTION ANEL
T g 50 50 INSERTS W/ 1/4"a~20x1 1/4" S.S.
EXISTING___! . 1/4"@ LAG SCREWS W/ 1 1/2" MIN. BOLTS (AS SHOWN) OR 1/4"@ LAG
class | © THREADED PENETRATION (AS SHOWN) W/ " ) SCREWS W/ 1 1/2" MIN. THREADED
It <+ .75 y
i B)OR(O) ®or(c 75 PENETRATION W/ 3/4"@ FLAT WASHERS

CONSTRUCTION PANELMATE INSERTS W/
1/4"2—20x1 1/4" S.S. BOLTS (SEE
SCHEDULE ON SHEET 14)

(SEE SCHEDULE ON SHEET 14)

1/4"@-20x3/4" S.S. BOLTS
W/ 7/8"@x3/32" WING NUT @ SPACING

XISTING WOOD 2°x4" I
EXISTING WOOD 2"x4 INDICATED @ ® & ©) (TYP).

1
|
!
| 3/4"@ FLAT WASHERS OR 1/4"@ ELCO
I
|
|
: . 48" MAX. WIDTH @ B— |
' .
I

PLATE REQTD. |“|;|—,LILJ 1/4"8-20x3/4" S.S. BOLTS
— W/ 7/8"0x3/32" WING NUT @ SPACING
N y INDICATED @ @) & ©) (TYP).
N _t
[ 2
Te]
e NN LI SECTION 7A
o § T .50" \’\‘1/4"@—2"@3/4" S.S. BOLTS gg;ﬂc QR';‘T%T SHOWN
YN l W/ 7/8"9x3/32" WING NUT @ SPACING :
N TITT . INDICATED @ ® & ©) (TYP). (SEE DETAIL X/14)
N G 1/4"@ ELCO CONSTRUCTION PANELMATE
N i NSERTS W/ 1/4"2-20x1 1/4" S.S.
§ BOLTS (AS SHOWN) OR 1/4°0 LAG
§ . SCREWS W/ 1 1/2" MIN. THREADED
_ PENETRATION W/ 3/4"@ FLAT WASHERS
/4 / / il | (SEE SCHEDULE ON SHEET 14)
\4

\WALL FINISH

WALL MOUNT IN_WOOD WALL

SCALE : 3/8"

NOTE: © NOT SHOWN
FOR CLARITY.
(SEE DETAIL X/14)
FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
¢ DRAWN BY:
pﬁw@m\,‘sw © 2009 TILTECO INC. THE GUARDIAN HURRICANE COVER LA/M.CY.
3 eomplyder wish the Dol vy
Suiding Code 07/3/09
Wﬁ Malp - OZD Z'O4« GQD.T. HOLDINGS DATE
pirption Date 0 a’. ks = ey S IlL I E c o INC. 3591 SOL&IIE &Eﬁsaﬁra%ﬁn DRIVE.
/ e e ’ TILLIT TESTING & ENGINEERING COMPANY PHONE: (801)420-3285  FAX: (801)796-7379 09-128
Dede Prod ekt Coptig? / V4 Wﬂj e g""ﬁ"”sem@%y&;églg(%’dz%?g\(%g)%%ﬂ%'I‘:’Ihnms REV. NO DESCRIFTION DATE REV. No DESCRIPTION DATE DRAWING No
Lid . 3
s E. WALTER A. TILLIT Jr., P.E. i
MIAMI-DADE COUNTY P.E. SEAL/SIGNATURE/DATE TER A LT ur. f ! : SHEET 12 OF 14




1/4"@ ITW BUILDEX TAPCON ANCHORS.

(AS SHOWN) W/ 3/4"3 FLAT WASHERS OR V%

1/4"8-20x3/4" S.S. BOLTS
1/4"@ ELCO CONSTRUCTION PANELMATE \
LTS

W/ 7/8"@x3/32" WING NUT @ SPACING
INDICATED @ B & ©) (TYP).

INSERTS W/ 1/4"2-20x2 1/4" S.S. BO
(SEE SCHEDULE ON SHEET 14)

EXISTING
POURED CONCRETE OR

CONCRETE BLOCK
020
I
I
[}
I

NOTE 8/1

MIN. E.D.
SEE GENERAL

WALL REQ'D.

ExisTING !
class i

[ ﬂ/L |
! 4 T1
I 6 1/4° MN. SEPARaTON ||

i

I 0 GLASS T
——
EXISTING __|

GLASS ll:

48" MAX. HEIGHT @ BA—

EXISTING

POURED CONCRETE OR
CONCRETE BLOCK
WALL REQ'D.

MIN. E.D.
SEE GENERAL

NOTE 8/1

1/4"8-20x3/4" S.S. BOLTS
W/ 7/8"@x3/32" WING NUT @ SPACING

1/4"@ ELCO CONSTRUCTION PANELMATE
INDICATED @ @ & © (TYP).

INSERTS W/ 1/4"2-20x2 1/4" S.S.
BOLTS (AS SHOWN) OR 1/4"@ ITW
BUILDEX TAPCON ANCHORS W/ 3/4°@
FLAT WASHERS.

(SEE SCHEDULE ON SHEET 14)

SECTION 8

Ao1E © nor o WALL MOUNT IN POURED CONCRETE

FOR CLARITY.

1/4"@ [TW BUILDEX TAPCON ANCHORS,

MIN. E.D. ;
" SEE GENERAL
(AS SHOWN) W/ 3/4"@ FLAT WASHERS OR J\ NOTE &/1

1/4"@ ELCO CONSTRUCTION PANELMATE

INSERTS W/ 1/4"2-20x2 1/4" S.S. BOLTS

(SEE SCHEDULE ON SHEET 14)

1/4"2~20x3/4" S.S. BOLTS

EXISTING i
POURED CONCRETE OR
EXISTING . e A CONCRETE BLOCK
POURED CONCRETE OR /7 /WLL REQ'D.
CONCRETE BLOCK
WALL REQ'D. I S
5 MIN. ED. 1/4°@ ELCO CONSTRUCTION PANELMATE

W/ 7/8"2x3/32" WING NUT © SPACING &

INDICATED @ ® & ©) (TYP).

INSERTS W/ 1/4"2-20x2 1/4" S.S.
BOLTS (AS SHOWN) OR 1/4"@ ITW
BUILDEX TAPCON ANCHORS W/ 3/4"g
FLAT WASHERS.

(SEE SCHEDULE ON SHEET 14)

[ SEE GENERAL

NOTE 8/1

TO GLASS
\/\;

“%
6 1/4" MIN. SEPARATION

1/4"3-20x3/4" S.S. BOLTS
W/ 7/8"0x3/32" WING NUT @ SPACING
OR © Af 75" INDICATED @ ® & ©) (TYP).

48" WIDTH @ (&) !

SECTION 8A
NOTE: ©) NOT SHOWN
FOR CLARITY.

(SEE DETAIL X/14)

o OR _CONCRETE

BLOCK WALL

SCALE : 3/8"
FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
PhBauCT REVISED: © 2009 TILTECO INC. THE GUARDIAN HURRICANE COVER DIRAA/"‘(A’fo/T’
3 complylag with the Wit :

3 Cate 07/3/09
w&:”ﬂ D-0706 - O GoDvTu HOLD'NGS DATE
Bxpiraticn Dok o [ob]l20 73.‘ ~\(: M IL E c o INC. 3591 sotﬂr:!c &EﬁmT &%ﬁ“ DRIVE.

4 == == 7§ TILLIT TESTING & ENGINEERING COMPANY PHONE: (801)420~3285 FAX: (801)796-7379 09-128
: g e 2 325 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl, 33166
i st Cogtee” [ V{/ /é}?‘ e thg"eaa: (30;)&71'3-128%0.6??9: (305)871-1531 REV. HO DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
4 [4 -
MIAMI-DADE COUNTY P.E. SEAL/SIGNATURE/DATE WALTER A. TILLIT Jr., PE. ! 3 SHEET 13 OF 14
FLORIDA Lic. 44167 2 4




MAXIMUM DESIGN PRESSURE RATING "W” (psf)
AND CORRESPONDING MAXIMUM ANCHOR SPACING
(in) SCHEDULE
@\\ MAX. DESIGN SPACING
(REQ'D. ONLY @ B.O, g SUBSTRATE LOAD "W” (in)
MOUNT). \ (psf.)
POURED < 90 12”7 0.C.
3/8°0 SQUARE CONCRETE > 90 70 100 | 12” O.C.
NUT USED
SAcES _AS\\ CONCRETE < 90 12 O.C’.’
BETWEEN BLOCK > 90 TO 100 | 11 1/2” O.C.
0«® WOOD < 90 12” 0.C.
(G = 0.55) > 90 TO 100 | 12" O.C.
ANCHORS (PANELMATE INSERT
FOR CONCRETE BLOCK OR
PANELMATE FEMALE ID FOR
WooD TYP. @ (§)
E% ANCHOR TO ®) W/ 3/4°@ FLAT
WASHERS (SEE SCHEDULE)
L~ DETAIL X
ISOMETRIC
1/4"8-20x3/4” S.S. BOLT
U 6°SRNG NoareD
REQ'D. ONLY @ B.O. NUT @
E/IOUNT) ° \ e(® &) (TrP).
{ FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
L/ ?mﬂfgﬁgw ©2008 TILTECO INC. THE GUARDIAN HURRICANE COVER ORAMN BY:
4 mg(bée ] A/M.CV.
Asccptaacs Nef0- 0207 . 04 ; Tiileco — \| G.D.T. HOLDINGS e
/L E,“"O 12 S Sy / IL E c o ".c.\ 3591 SOUTH PLEASANT GREEN DRIVE. : -
%y e nYs 2y /%4 - o S TILLIT TESTING & ENGINEERING COMPANY PHONE: (801)420-3285  FAX: (801)796-7379 09-128
> > e ﬂ ’/ %//ﬁf&j e ghvéhejs:“bggjﬁég‘_gggd:%??(gégﬁgia§3133166 REV. NO DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
(MITTERED AT CORNERS) MIAMI-DADE COUNTY P.E. SEAL/SIGNATURE/DATE WALTER A, TILUT Jr., PE. . : SHEET 14 OF 14




